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Function0l for No.1l

dA={(l,a),(3,p),(4,1),(9,a),(7,¢c)}

2={(r,9).(r.4).(t,.3),(s.2),(e,4))} D,={-4,-3,-2,0,2,3}

. = r’ s ;,.’ , , , S’ ) e,

No0l = 3—(y—5x2+6) ) ,NOOZ: .]:(f(x):,\/x_’_l?))
e _ _ _ 2
4=(x=5)"+6) 2=(f(x)=3+2)

3—x N x< -3
flx)=| 6 ; 3<=x<=2 I=(3x+y=3
No03 = (x) , by ’ No04 = ( f%iy )
2x+2 N x> 2 .2:(x :y_3)

[o=-4,B=-3,7=42,8=26=4,a=2+h,b=2]

d=4-3+x
2=—fx 2
f(x)=11-x
No05 = 1 , , No06 =
3= D={x|-4<x<8}
3x—-6

2
L. 4=3x"—-1]
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Function0l Answers for No.l
.1 ="a Function"

.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

p 2_[.1:{(-4, 3),(-3,10M1/2)), (-2, 1I1/2) ), (0, 13%1/2) ), (2, 15%1/2) ), (3, 4)}}
8= 2={(-4,50),(-3,29),(-2,14),(0,2),(2,14),(3,29)}

} {Df:{x|x>=3}}
S R={yIy>=0}
2-6 :{Df:{x|x<=0}
3=6 .1 ="a Function" R={yly<=0}
Ans3 = 4=6 | AnS4_[2:"aFunction"}’ , Ans = D={x|x=/=2}
5=10 “R={y|y=/=0}
6=2h
- - {Df: Set of all Real number}
L R={yly>=-1}

Ans6:(Rf:{x|-53<x<= 11})
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